Parts Information

- Parts list -

Vehicle

Color

FIN: WDB2110651A618041

Group

Item

30

42

50

70

80

90

110

120

130

140

150

170

210

220

230

Part number

A 211 466 04 81
®

A 094 990 64 11
®
A 027 997 95 48

a2

()

A 005 997 76 40

a2

()

A 001990 12 63

oS

()

N 007603 016105

oS

&
N 000000 003853

N 000000 001114

@
A 140 990 06 36

N 000000 001114

A 211466 01 40

L

8@

N 000000 001114

A 211 466 20 81
®

A 027 997 95 48
®

A 116 466 12 82
®

© Copyright 2022 Mercedes-Benz AG

WDBUF65)65A618041 (64U) E 320
744 - Brilliant silver metallic Equipment
Assortment class

46 STEERING Sub-group

Designation/additional information

HOSE
FROM PUMP TO STEERING
FH Code: M112+-M005;

* CLAMP

HIGH-PRESSURE EXPANSION HOSE HOLDER; 20/20

* SEALING RING

DELIVERY LINE TO STEERING GEAR

R Code: -(M156+M63/M646);

* SEALING RING

DELIVERY LINE TO STEERING GEAR

R Code: -(M156+M63/M646);

* HOLLOW SCREW

DELIVERY LINE TO PUMP

R Code: M112/M113/M272 /M273/M628/M629/M642+M005 /M 156+M63;
* SEALING RING

DELIVERY LINE TO PUMP; 16X20-CU

F Code: M112/M113/M272/M273/M628/M629 /M642+M005 /M 156+M63;
HEXALOBULAR BOLT

HIGH-PRESSURE AND LOW-PRESSURE HOSES TO STEERING; M8X 16
HEXALOBULAR BOLT

HIGH-PRESSURE HOSE TO HOUSING STEERING LEFT; M6X 15
THREAD ROLLING, HEAD BOLT

LOW PRESSURE HOSE TO CARRIER; M5X 14

HEXALOBULAR BOLT

HIGH-PRESSURE TO ENGINE OIL SUMP; M6X 15

FH Code: M646/M648/(M112/M113/M642)+-(MO05 /M 156+M63);
BRACKET

HIGH-PRESSURE TO ENGINE OIL SUMP

EH Code: (M112/M113)+-M005;

HEXALOBULAR BOLT

AUXILIARY BRACKET TO ENGINE OIL PAN; M6X15

ER Code: (M112/M113/M273)+-M005;

HOSE

FROM STEERING TO COOLING PIPE

B, [001176, 001954] OBSERVE WIS

E Code: -(M628/M005/M63);

* SEALING RING

LOW PRESSURE LINE TO STEERING

EH Code: -(M005/M63);

* RUBBER RING

CHAFE PROTECTION, PRESSURE LINE

ER Code: -(M628/M005);

131 - Twin leather, anthracite

PC

064 GASOLINE VEHICLES LINE

SCOPE

Qty



Parts Information

Item

240

260

295

310

350

360

© Copyright 2022 Mercedes-Benz AG

Part number

A 005 997 27 90

A 211997 04 82

A 006 997 6190

A 005 997 27 90

A 211466 21 24

A 211 504 09 40

Designation/additional information

HOSE CLAMP

LOW-PRESSURE HOSE TO COOLING PIPE
FH Code: -(M156+M63);

HOSE

FROM COOLING PIPE TO PUMP

|:5_“q [402] NO LONGER AVAILABLE

FH Code: M112;

BINDER

FROM HOSE TO PUMP; 15.5 MM

@ Code: -(M646/M647 /M648);

HOSE CLAMP

LOW PRESSURE HOSE TO COOLING LINE
FH Code: -(M156+M63);

LINE

TO COOLING MODULE

@ Code: M112/M272+-(M012/917);
BRACKET

COOLING PIPE TO CONDENSER

@ Code: M112/M271/M272 /M273 /M 113+-M55;

Qty



